



Fixed point theorems on quasi-partial metric spaces



Erdal Karapınar^a, İ.M. Erhan^{a,*}, Ali Öztürk^b

^a Department of Mathematics, Atilim University 06836, Incek, Ankara, Turkey

^b Department of Mathematics, İzzet Baysal University, Bolu, Turkey

ARTICLE INFO

Article history:

Received 25 July 2011

Received in revised form 5 January 2012

Accepted 12 June 2012

Keywords:

Partial metric space

Quasi-partial metric space

Fixed point theorem

ABSTRACT

In this paper, the concept of a quasi-partial metric space is introduced, and some general fixed point theorems in quasi-partial metric spaces are proved.

© 2012 Elsevier Ltd. All rights reserved.

1. Introduction and preliminaries

A partial metric space (PMS) is an attempt to generalize the metric space by replacing the condition $d(x, x) = 0$ with the condition $d(x, x) \leq d(x, y)$ for all x, y in the definition of the metric; it was first introduced by Matthews (see [1,2]). In his initial papers, Matthews discussed not only the general topological properties of partial metric spaces but also some properties of convergence of sequences. Matthews also stated and proved the fixed point theorem of contractive mapping on partial metric spaces: Any mapping T of a complete partial metric space X into itself that satisfies, for some $0 \leq k < 1$, the inequality $d(Tx, Ty) \leq kd(x, y)$, for all $x, y \in X$, has a unique fixed point. Very recently, many authors (see, e.g., [3–6, 1, 2, 7–9]) have focused on this subject and have generalized some fixed point theorems from the class of metric spaces to the class of partial metric spaces. In this paper, we introduce quasi-partial metric spaces (QPMSs), and we discuss the existence of fixed points of self-mappings T on quasi-partial metric spaces.

First, we recall the definition of a quasi-metric.

Let $X \neq \emptyset$. A quasi-metric is a function $d: X \times X \rightarrow \mathbb{R}^+$ (where \mathbb{R}^+ denotes the set of all non-negative real numbers) satisfying

$$(QM1) \quad d(x, x) = 0,$$

$$(QM2) \quad d(x, y) \leq d(x, z) + d(z, y),$$

for all $x, y, z \in X$. The pair (X, d) is called a quasi-metric space.

We next recall the definitions of a PMS and a QPMS.

Let $X \neq \emptyset$. A partial metric (see [1,2]) is a function $p: X \times X \rightarrow \mathbb{R}^+$ satisfying

$$(PM1) \quad p(x, y) = p(y, x) \text{ (symmetry),}$$

$$(PM2) \quad \text{if } 0 \leq p(x, x) = p(x, y) = p(y, y), \text{ then } x = y \text{ (equality),}$$

* Corresponding author. Tel.: +90 3125868753; fax: +90 3125868091.

E-mail addresses: erdalkarapinar@yahoo.com, ekarapinar@atilim.edu.tr (E. Karapınar), ierhan@atilim.edu.tr (İ.M. Erhan), aliozturk@ibu.edu.tr (A. Öztürk).

(PM3) $p(x, x) \leq p(x, y)$ (small self-distances)

(PM4) $p(x, z) + p(y, y) \leq p(x, y) + p(y, z)$ (triangle inequality),

for all $x, y, z \in X$. The pair (X, p) is called partial metric space.

Each partial metric p on X generates a T_0 topology τ_p on X with a base of the family of open p -balls $\{B_p(x, \varepsilon) : x \in X, \varepsilon > 0\}$, where $B_p(x, \varepsilon) = \{y \in X : p(x, y) < p(x, x) + \varepsilon\}$ for all $x \in X$ and $\varepsilon > 0$.

A quasi-partial metric is a function $q: X \times X \rightarrow \mathbb{R}^+$ satisfying

(QPM1) if $0 \leq q(x, x) = q(x, y) = q(y, y)$, then $x = y$ (equality),

(QPM2) $q(x, x) \leq q(y, x)$ (small self-distances),

(QPM3) $q(x, x) \leq q(x, y)$ (small self-distances),

(QPM4) $q(x, z) + q(y, y) \leq q(x, y) + q(y, z)$ (triangle inequality),

for all $x, y, z \in X$. The pair (X, q) is called a quasi-partial metric space.

Note that, if $q(x, y) = q(y, x)$ for all $x, y \in X$, then (X, q) becomes a partial metric space. It is easy to see that for a partial metric p on X , the function $d_p: X \times X \rightarrow \mathbb{R}^+$ defined by

$$d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y) \tag{1.1}$$

is a (usual) metric on X . Analogously for a quasi-partial metric p on X , the function $d_q: X \times X \rightarrow \mathbb{R}^+$ defined by

$$d_q(x, y) = q(x, y) + q(y, x) - q(x, x) - q(y, y) \tag{1.2}$$

is a (usual) metric on X .

Lemma 1. For a quasi-partial metric q on X ,

$$p_q(x, y) = \frac{1}{2}[q(x, y) + q(y, x)] \quad x, y \in X \tag{1.3}$$

is a partial metric on X .

The proof of Lemma 1 is straightforward. Notice that here

$$p_q(x, x) = q(x, x) \tag{1.4}$$

for all $x \in X$.

Proposition 2 (See [1,2]). Let (X, p) be a PMS. Set $q_p(x, y) = p(x, y) - p(x, x)$ for $x, y \in X$. Then (X, q_p) is a QPMS and their topologies coincide (i.e. $\tau_p = \tau_{q_p}$).

Actually, Proposition 2 tells us more; that is, (X, q_p) is a quasi-metric space due to the fact that $q_p(x, x) = p(x, x) - p(x, x) = 0$.

Example 3 (See [1,4]). The pair (\mathbb{R}^+, p) with $p(x, y) = \max\{x, y\}$ is a partial metric space. Note that in this case $d_p(x, y) = |x - y|$.

Example 4 (See [10]). Let X be a set, and let $f: X \rightarrow [0, 1)$ be an arbitrary one-to-one function. Set $q(x, y) = \max\{f(y) - f(x), 0\}$ for $x, y \in X$. Then q is a quasi-metric.

Some basic concepts on PMSs and QPMSs are defined below.

Definition 5 (See [3,1,2]). Let (X, p) be a PMS. Then:

(i) a sequence $\{x_n\} \subset X$ converges to $x \in X$ if and only if

$$p(x, x) = \lim_{n \rightarrow \infty} p(x, x_n);$$

(ii) a sequence $\{x_n\} \subset X$ is called a Cauchy sequence if and only if $\lim_{n,m \rightarrow \infty} p(x_n, x_m)$ exists (and is finite);

(iii) the PMS (X, p) is said to be complete if every Cauchy sequence $\{x_n\} \subset X$ converges, with respect to τ_p , to a point $x \in X$ such that $p(x, x) = \lim_{n,m \rightarrow \infty} p(x_n, x_m)$;

(iv) a mapping $f: X \rightarrow X$ is said to be continuous at $x_0 \in X$ if, for every $\varepsilon > 0$, there exists $\delta > 0$ such that $f(B(x_0, \delta)) \subset B(f(x_0), \varepsilon)$.

Definition 6. Let (X, q) be a QPMS. Then:

(i) a sequence $\{x_n\} \subset X$ converges to $x \in X$ if and only if

$$q(x, x) = \lim_{n \rightarrow \infty} q(x, x_n) = \lim_{n \rightarrow \infty} q(x_n, x);$$

(ii) a sequence $\{x_n\} \subset X$ is called a Cauchy sequence if and only if $\lim_{n,m \rightarrow \infty} q(x_n, x_m)$ and $\lim_{n,m \rightarrow \infty} q(x_m, x_n)$ exist (and are finite);

(iii) the QPMS (X, q) is said to be complete if every Cauchy sequence $\{x_n\} \subset X$ converges, with respect to τ_q , to a point $x \in X$ such that $q(x, x) = \lim_{n,m \rightarrow \infty} q(x_m, x_n) = \lim_{n,m \rightarrow \infty} q(x_n, x_m)$;

(iv) a mapping $f: X \rightarrow X$ is said to be continuous at $x_0 \in X$ if, for every $\varepsilon > 0$, there exists $\delta > 0$ such that $f(B(x_0, \delta)) \subset B(f(x_0), \varepsilon)$.

Lemma 7 (See [3,1,2]).

(A) A sequence $\{x_n\}$ is Cauchy in a PMS (X, p) if and only if $\{x_n\}$ is Cauchy in the (corresponding) metric space (X, d_p) .

(B) A PMS (X, p) is complete if and only if the (corresponding) metric space (X, d_p) is complete. Moreover,

$$\lim_{n \rightarrow \infty} d_p(x, x_n) = 0 \Leftrightarrow p(x, x) = \lim_{n \rightarrow \infty} p(x, x_n) = \lim_{n,m \rightarrow \infty} p(x_n, x_m). \tag{1.5}$$

Regarding the identities (1.1), (1.3) and (1.4), we can conclude the following results.

Lemma 8. Let (X, q) be a QPMS, let (X, p_q) be the corresponding PMS, and let (X, d_{p_q}) be the corresponding metric space. The following statements are equivalent.

(A) The sequence $\{x_n\}$ is Cauchy in (X, q) .

(B) The sequence $\{x_n\}$ is Cauchy in (X, p_q) .

(C) The sequence $\{x_n\}$ is Cauchy in (X, d_{p_q}) .

Lemma 9. Let (X, q) be a QPMS, let (X, p_q) be the corresponding PMS, and let (X, d_{p_q}) be the corresponding metric space. The following statements are equivalent.

(A) (X, q) is complete.

(B) (X, p_q) is complete.

(C) (X, d_{p_q}) is complete.

Moreover,

$$\begin{aligned} \lim_{n \rightarrow \infty} d_{p_q}(x, x_n) = 0 &\Leftrightarrow p_q(x, x) = \lim_{n \rightarrow \infty} p_q(x, x_n) = \lim_{n,m \rightarrow \infty} p_q(x_n, x_m) \\ &\Leftrightarrow q(x, x) = \lim_{n \rightarrow \infty} q(x, x_n) = \lim_{n,m \rightarrow \infty} q(x_n, x_m) \\ &= \lim_{n \rightarrow \infty} q(x_n, x) = \lim_{n,m \rightarrow \infty} q(x_m, x_n). \end{aligned} \tag{1.6}$$

Note that d_{p_q} in Lemmas 8 and 9 is the same as d_q defined by (1.2).

The following lemma is very useful in the proof of the main theorems.

Lemma 10 (See [6]). Let (X, q) be a QPMS. Then the following hold.

(A) If $q(x, y) = 0$ then $x = y$.

(B) If $x \neq y$, then $q(x, y) > 0$ and $q(y, x) > 0$.

Proof. (A). Let $q(x, y) = 0$. By (QPM2) and (QPM3), we have $q(x, x) \leq q(x, y) = 0$ and $q(y, y) \leq q(x, y) = 0$. Analogously, $q(x, x) \leq q(y, x) = 0$ and $q(y, y) \leq q(y, x) = 0$. Thus, we have

$$q(x, x) = q(x, y) = q(y, y) = 0 \quad \text{and} \quad q(x, x) = q(y, x) = q(y, y) = 0.$$

Hence, by (QPM1), we have $x = y$.

(B). Suppose that $x \neq y$. By definition, $q(x, y) \geq 0$ and $q(y, x) \geq 0$ for all $x, y \in X$. Assume that $q(x, y) = 0$. By part (A), we have $x = y$, which is a contradiction. Hence, $q(x, y) > 0$ whenever $x \neq y$. Analogously, $q(y, x) > 0$ whenever $x \neq y$. \square

If $T: X \rightarrow X$ is any map on X , $O(x) = \{x, Tx, T^2x, \dots\}$ is called the orbit of x . A mapping $G: X \rightarrow \mathbb{R}^+$ is T -orbitally lower semi-continuous at x if $\{x_n\}$ is a sequence in $O(x)$ and $\lim x_n = z$ implies $G(z) \leq \liminf G(x_n)$.

Many examples of topological spaces are quasi-metrizable, such as the Sorgenfrey line. In [11], Caristi showed the existence of fixed points on certain quasi-metric spaces and other general spaces.

In this paper, some well-known results (see [11,12]) are extended to quasi-partial metric spaces.

2. Fixed point theorems

In this section, we present our main results. We first give the following theorem.

Theorem 11. Let (X, q) be a quasi-partial metric space, and let $T: X \rightarrow X$. Then the following hold.

(A) There exists $\phi: X \rightarrow \mathbb{R}^+$ such that

$$q(x, Tx) \leq \phi(x) - \phi(Tx) \quad \text{for all } x \in X$$

if and only if

$$\sum_{n=0}^{\infty} q(T^n x, T^{n+1} x) \quad \text{converges for all } x \in X.$$

(B) There exists $\phi: X \rightarrow \mathbb{R}^+$ such that

$$q(x, Tx) \leq \phi(x) - \phi(Tx) \quad \text{for all } x \in O(x)$$

if and only if

$$\sum_{n=0}^{\infty} q(T^n x, T^{n+1} x) \quad \text{converges for all } x \in O(x).$$

Proof. Necessity of (A).

Let $x \in X$, and let

$$q(x, Tx) \leq \phi(x) - \phi(Tx).$$

Define the sequence $\{x_n\}_{n=1}^{\infty}$ in the following way:

$$x_0 = x \quad \text{and} \quad x_{n+1} = Tx_n = T^{n+1}x_0, \quad \text{for all } n = 0, 1, 2, \dots$$

Set

$$S_n = \sum_{k=0}^n q(x_k, x_{k+1}) = \sum_{k=0}^n q(T^k x_0, T^{k+1} x_0).$$

Then

$$\begin{aligned} S_n &\leq \sum_{k=0}^n [\phi(T^k x_0) - \phi(T^{k+1} x_0)] \\ &= [\phi(x_0) - \phi(Tx_0)] + \dots + [\phi(T^n x_0) - \phi(T^{n+1} x_0)] \\ &= \phi(x_0) - \phi(T^{n+1} x_0) \leq \phi(x_0) = \phi(x). \end{aligned} \tag{2.1}$$

Thus, (2.1) implies that $\{S_n\}$ is bounded. Also, $\{S_n\}$ is non-decreasing by definition, and hence it is convergent.

Sufficiency of (A).

Define

$$\phi(x) = \sum_{n=0}^{\infty} q(T^n x, T^{n+1} x) \quad \text{and} \quad S_n(x) = \sum_{k=0}^n q(T^k x, T^{k+1} x).$$

Then

$$\phi(Tx) = \sum_{n=0}^{\infty} q(T^{n+1} x, T^{n+2} x) \quad \text{and} \quad S_n(Tx) = \sum_{k=0}^n q(T^{k+1} x, T^{k+2} x).$$

Using these definitions, we get

$$\begin{aligned} S_n(x) - S_n(Tx) &= \sum_{k=0}^n q(T^k x, T^{k+1} x) - \sum_{k=0}^n q(T^{k+1} x, T^{k+2} x) \\ &= q(x, Tx) - q(T^{n+1} x, T^{n+2} x). \end{aligned} \tag{2.2}$$

Since $\sum_{n=0}^{\infty} q(T^n x, T^{n+1} x)$ converges for all $x \in X$,

$$\lim_{n \rightarrow \infty} S_n(x) = \phi(x) \quad \text{and} \quad \lim_{n \rightarrow \infty} q(T^n x, T^{n+1} x) = 0.$$

Letting $n \rightarrow \infty$ in (2.2) yields

$$q(x, Tx) = \phi(x) - \phi(Tx),$$

which completes the proof.

Since (B) can be proved analogously, we omit the proof here. \square

We give an illustrative example of a quasi-partial metric which is neither a partial metric nor a quasi-metric.

Example 12. Let $X = [0, 1]$. Define

$$q(x, y) = |x - y| + |x|.$$

Clearly, $q(x, y)$ satisfies (QPM1)–(QPM4), and hence is a quasi-partial metric. However, $q(x, y) \neq q(y, x)$ and $q(x, x) \neq 0$, so q is not a partial metric or a quasi-metric. Define $T: X \rightarrow X$ as $Tx = \frac{x}{2}$ for all $x \in X$. Then the series $\sum_{n=0}^{\infty} q(T^n x, T^{n+1} x)$ is convergent. Indeed,

$$\begin{aligned} \sum_{n=0}^{\infty} q(T^n x, T^{n+1} x) &= \sum_{n=0}^{\infty} q\left(\frac{x}{2^{n-1}}, \frac{x}{2^n}\right) \\ &= \sum_{n=0}^{\infty} \left| \frac{x}{2^{n-1}} - \frac{x}{2^n} \right| + \left| \frac{x}{2^{n-1}} \right| \\ &= \sum_{n=0}^{\infty} \left| \frac{x}{2^n} \right| + \left| \frac{x}{2^{n-1}} \right| \\ &= \sum_{n=0}^{\infty} \frac{3x}{2^n} = 3x \frac{1}{1 - \frac{1}{2}} = 6x. \end{aligned}$$

Then conditions of Theorem 11 are satisfied for $\phi(x) = 6x$.

The next theorem gives conditions for the existence of fixed points of operators on quasi-partial metric spaces.

Theorem 13. Let (X, q) and (Y, q) be complete quasi-partial metric spaces. Let also $T: X \rightarrow X, R: X \rightarrow Y$, and $\phi: R(X) \rightarrow \mathbb{R}^+$. If there exist $x \in X$ and $c > 0$ such that

$$\max\{q(y, Ty), cq(Ry, RTy)\} \leq \phi(Ry) - \phi(RTy) \tag{2.3}$$

for all $y \in O(x)$, then the following hold.

- (A) $\lim_{n \rightarrow \infty} T^n x = z$ exists.
- (B) $Tz = z$ if and only if $G(x) = q(x, Tx)$ is T -orbitally lower semi-continuous at x .
- (C) $q(x, T^n x) \leq \phi(Rx)$.
- (D) If $y \rightarrow q(z, y)$ is continuous for $z \in O(x)$, then $q(T^n x, z) \leq \phi(R^n x)$ and $q(x, z) \leq \phi(Rx)$.

Proof. Proof of (A). Let $x \in X$. Define the sequence $\{x_n\}_{n=1}^{\infty}$ as follows:

$$x_0 = x \quad \text{and} \quad x_{n+1} = Tx_n = T^{n+1}x_0, \text{ for all } n = 0, 1, 2, \dots$$

We will show that $\{x_n\}_{n=1}^{\infty}$ is Cauchy. Using (QPM4), we obtain

$$\begin{aligned} q(x_n, x_{n+2}) &\leq q(x_n, x_{n+1}) + q(x_{n+1}, x_{n+2}) - q(x_{n+1}, x_{n+1}) \\ &\leq q(x_n, x_{n+1}) + q(x_{n+1}, x_{n+2}), \end{aligned} \tag{2.4}$$

and similarly,

$$\begin{aligned} q(x_n, x_{n+3}) &\leq q(x_n, x_{n+2}) + q(x_{n+2}, x_{n+3}) - q(x_{n+2}, x_{n+2}) \\ &\leq q(x_n, x_{n+2}) + q(x_{n+2}, x_{n+3}) \\ &\leq q(x_n, x_{n+1}) + q(x_{n+1}, x_{n+2}) + q(x_{n+2}, x_{n+3}). \end{aligned} \tag{2.5}$$

Upon generalization, we get

$$\begin{aligned} q(x_n, x_m) &\leq q(x_n, x_{n+1}) + q(x_{n+1}, x_{n+2}) + \dots + q(x_{m-1}, x_m) \\ &\leq q(T^n x, T^{n+1} x) + q(T^{n+1} x, T^{n+2} x) + \dots + q(T^{m-1} x, T^m x) \\ &= \sum_{k=n}^{m-1} q(T^k x, T^{k+1} x) \end{aligned} \tag{2.6}$$

for $m > n$. Set $S_n(x) = \sum_{k=0}^n q(T^kx, T^{k+1}x)$. From (2.3), we have

$$\begin{aligned} q(T^kx, T^{k+1}x) &\leq \max\{q(T^kx, T^{k+1}x), cq(RT^kx, RT^{k+1}x)\} \\ &\leq \phi(RT^kx) - \phi(RT^{k+1}x) \quad \text{for all } k = 0, 1, \dots \end{aligned} \tag{2.7}$$

This implies that

$$S_n(x) \leq \sum_{k=0}^n [\phi(RT^kx) - \phi(RT^{k+1}x)] = \phi(Rx) - \phi(RT^{n+1}x) \leq \phi(Rx). \tag{2.8}$$

Thus, $\sum_{n=0}^\infty q(T^n x, T^{n+1}x)$ is convergent. Taking the limit as $n, m \rightarrow \infty$ in (2.6), we get

$$\lim_{m, n \rightarrow \infty} q(x_n, x_m) = \lim_{m, n \rightarrow \infty} (S_{m-1}(x) - S_n(x)) = 0. \tag{2.9}$$

Using similar arguments, one can show that

$$\lim_{m, n \rightarrow \infty} q(x_m, x_n) = 0; \tag{2.10}$$

that is, the sequence $\{x_n\}$ is Cauchy in (X, q) . Since (X, q) is complete, (X, d_q) is also complete by Lemma 9, and hence $\lim_{n \rightarrow \infty} d_q(T^n x, z) = 0$; that is, $\lim_{n \rightarrow \infty} T^n x = z$, which completes the proof of (A). Further,

$$\lim_{n \rightarrow \infty} q(T^n x, T^{n+1}x) = 0,$$

and hence

$$\lim_{n \rightarrow \infty} q(T^n x, T^{n+1}x) = q(z, z) = 0.$$

Proof of necessity of (B).

Assume that $Tz = z$ and that x_n is a sequence in $O(x)$ with $x_n \rightarrow z$. Due to (1.6) in Lemma 9,

$$\lim_{n \rightarrow \infty} d_q(z, x_n) = 0 \Leftrightarrow q(z, z) = \lim_{n \rightarrow \infty} q(z, x_n) = \lim_{n, m \rightarrow \infty} q(x_n, x_m). \tag{2.11}$$

Then $G(z) = q(z, Tz) = q(z, z) \leq \liminf q(x_n, Tx_n) = \liminf G(x_n)$; that is, G is T -orbitally lower semi-continuous at x .

Proof of sufficiency of (B).

Suppose that $x_n = T^n x \rightarrow z$ and that G is T -orbitally lower semi-continuous at x . Then

$$\begin{aligned} 0 \leq q(z, Tz) &= G(z) \leq \liminf G(x_n) \\ &= \liminf q(T^n x, T^{n+1}x) \\ &= \liminf q(x_{n+1}, x_{n+2}) = q(z, z) = 0. \end{aligned} \tag{2.12}$$

By Lemma 10, we have $Tz = z$.

Proof of (C).

Using (QPM4) and (2.3), we have

$$\begin{aligned} q(x, T^n x) &\leq q(x, Tx) + q(Tx, T^2x) + \dots + q(T^{n-1}x, T^n x) - q(Tx, Tx) - q(T^2x, T^2x) - \dots - q(T^{n-1}x, T^{n-1}x) \\ &\leq q(x, Tx) + q(Tx, T^2x) + \dots + q(T^{n-1}x, T^n x) \\ &\leq [\phi(Rx) - \phi(RTx)] + [\phi(RTx) - \phi(RT^2x)] + \dots + [\phi(RT^{n-1}x) - \phi(RT^n x)] \\ &= \phi(Rx) - \phi(RT^n x) \leq \phi(Rx). \end{aligned} \tag{2.13}$$

Proof of (D).

Letting $n \rightarrow \infty$ in (2.13) gives $q(x, z) \leq \phi(Rx)$. From (2.6), we have $q(x_n, x_m) \leq \sum_{k=n}^{m-1} q(T^k x, T^{k+1}x)$ for $m > n$. Note that

$$\begin{aligned} \sum_{k=n}^{m-1} q(T^k x, T^{k+1}x) &\leq \sum_{k=n}^{m-1} [\phi(RT^k x) - \phi(RT^{k+1}x)] \\ &= \phi(RT^n x) - \phi(RT^m x) \\ &\leq \phi(RT^n x) \end{aligned} \tag{2.14}$$

for $m > n$. Hence,

$$\begin{aligned} 0 &\leq q(T^n x, T^m x) \leq \sum_{k=n}^{m-1} q(T^k x, T^{k+1} x) \\ &\leq \phi(RT^n x) - \phi(RT^m x) \leq \phi(RT^n x). \end{aligned} \quad (2.15)$$

Letting $m \rightarrow \infty$ in (2.15) gives $q(T^n x, z) \leq \phi(RT^n x)$, which completes the proof.

Note that the particular case in which $Y = X$ and $R = I$ gives a version of Caristi's Theorem for quasi-partial metric spaces. \square

The next two corollaries are special cases of Theorem 13.

Corollary 14. Let (X, q) be a complete quasi-partial metric space. Let $T: X \rightarrow X$ and $\phi: X \rightarrow \mathbb{R}^+$. Suppose that there exists $x \in X$ such that

$$q(y, Ty) \leq \phi(y) - \phi(Ty) \quad \text{for all } y \in O(x).$$

Then the following hold.

- (A) $\lim_{n \rightarrow \infty} T^n x = z$ exists.
- (B) $Tz = z$ if and only if $G(x) = q(x, Tx)$ is T -orbitally lower semi-continuous at x .
- (C) $q(x, T^n x) \leq \phi(x)$.
- (D) If $y \rightarrow q(z, y)$ is continuous for $z \in O(x)$, then $q(T^n x, z) \leq \phi(T^n x)$ and $q(x, z) \leq \phi(x)$.

Proof. Take $Y = X$ and $R = I$ and $c = 1$ in Theorem 13. \square

Corollary 15. Let (X, q) be a complete quasi-partial metric space, and let $0 < k < 1$. Suppose that $T: X \rightarrow X$ and that there exists $x \in X$ such that

$$q(Ty, T^2 y) \leq kq(y, Ty) \quad \text{for all } y \in O(x). \quad (2.16)$$

Then the following hold.

- (A) $\lim_{n \rightarrow \infty} T^n x = z$ exists.
- (B) $Tz = z$ if and only if $G(x) = q(x, Tx)$ is T -orbitally lower semi-continuous at x .
- (C) $q(x, T^n x) \leq \frac{1}{1-k} q(x, Tx)$.

Proof. Set $\phi(y) = \frac{1}{1-k} q(y, Ty)$ for $y \in O(x)$. Let $y = T^n x$ in (2.16). Then $q(T^{n+1} x, T^{n+2} x) \leq kq(T^n x, T^{n+1} x)$ and $q(T^n x, T^{n+1} x) - kq(T^n x, T^{n+1} x) \leq q(T^n x, T^{n+1} x) - q(T^{n+1} x, T^{n+2} x)$.

Thus,

$$q(T^n x, T^{n+1} x) \leq \frac{1}{1-k} [q(T^n x, T^{n+1} x) - q(T^{n+1} x, T^{n+2} x)]$$

or $q(y, Ty) \leq \phi(y) - \phi(Ty)$. (A)–(C) follow immediately from Corollary 14. \square

References

- [1] S.G. Matthews, Partial metric topology, Research Report 212, Department of Computer Science, University of Warwick, 1992.
- [2] S.G. Matthews, Partial metric topology, General Topology and its Applications, in: Proceedings of the 8th Summer Conference, Queen's College (1992), Annals of the New York Academy of Sciences, vol. 728, pp. 183–197, 1994.
- [3] I. Altun, A. Erduran, Fixed point theorems for monotone mappings on partial metric spaces, Fixed Point Theory and Applications (2011) 10. <http://dx.doi.org/10.1155/2011/508730>. Article ID 508730.
- [4] I. Altun, F. Sola, H. Simsek, Generalized contractions on partial metric spaces, Topology and Its Applications 157 (18) (2010) 2778–2785.
- [5] E. Karapınar, Weak ϕ -contraction on partial contraction, Journal of Computational Analysis and Applications 14 (2) (2012) 206–210.
- [6] E. Karapınar, Generalizations of Caristi's theorem on partial metric spaces, Fixed Point Theory and Applications 2011 (4) (2011) <http://dx.doi.org/10.1186/1687-1812-2011>.
- [7] S. Oltra, O. Valero, Banach's fixed point theorem for partial metric spaces, Rendiconti dell'Istituto di Matematica dell'Universit di Trieste 36 (1–2) (2004) 17–26.
- [8] S. Oltra, S. Romaguera, E.A. Sanchez-Perez, The canonical partial metric and uniform convexity on normed spaces, Applied General Topology 6 (2) (2005) 185–194.
- [9] O. Valero, On Banach fixed point theorems for partial metric spaces, Applied General Topology 6 (2) (2005) 229–240.
- [10] H.P. Künzi, H. Pajoohesh, M.P. Schellekens, Partial quasi-metrics, Theoretical Computer Science—Spatial Representation: Discrete vs. Continuous Computational Models 365 (3) (2006) 237–246.
- [11] J. Caristi, Fixed point theorems for mapping satisfying inwardness conditions, Transactions of the American Mathematical Society 215 (1976) 241–251.
- [12] T.L. Hicks, Fixed point theorems for quasi-metric spaces, Mathematica Japonica 33 (2) (1988) 231–236.